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from turtle import * #&) Aturtle 1248
forward(100) #RBIZE 10034 (pixel)
left(90) #/- BEO0/E

forward(100)
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nensize(3) #HEXEEHIN/ N3
color('red)gkcolor('red")  #RTEEMEEE
forward() | fd() # R 76

backward() | bk() #121R

left() | It() #r UE

right() | rt() # 5E

speed() L HEREESFRE] Eg%




Python #Z[Z]( turtle 12 48)

I.é/\Zﬂ

nenup() : 12
pendown() :
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goto(x,y) H—nﬁ%’fﬂy@]@
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circle (radius, extent ) .

begin_fill() : BIEAIEAEE
fillcolor(‘red")=kfillcolor("red")
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from turtle import *
speed(8)
pensize('3")
begin_fill()
color(‘red’)
fillcolor("blue™)
circle(200)
end_fill()
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for i in range(F &)
=>for I In range(3):
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=>for I In range(3):

print (i)
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from turtle import *

for 1in range(36):

forward(200)
left(110)
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for i in range(¥)%a18, 4% LL 18, B EE):
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for j in range(1,4):
print (j)
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for j in range(5,1,-1):
print (j)
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1. foriinrange(1,15,2): 2 FIENEYE
o ] i=7
2. print(i) 2 BIETHE
1 1=0
2 FIEJIEYE
] i=11
2 BIEJIEYE
] i=13
2 FIENHYE
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1. foriinrange(1,15,2): 1 i=3
2. print(i) 2 FUENE9ME

1 i=5

2 BUENiHTE

11=7

2 FIENEYE

1i=0
2 FIENRYE
1i=11
2 FIENiEYE
11=13
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from turtle import *
def square (s):
for i in range(4):
fd(s)
rt(90)
square (100)
penup()
goto (-50,-50)
pendown()
square (100)
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from turtle import *
speed(10)
for 1 in range(50,170,20):
circle(i)
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def petal(s):
circle(s,90)
left(90)
circle(s,90)

def flower(s):

for i in range(4):

petal(s)
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from turtle import *

speed(8)

pencolor('red’)

pensize(3)

begin_fill()

color('red’)

circle (20)

end_fill()

for i in range(40,140,20):
penup()
goto(0,20-1)
pendown()
circle(i)
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Print(22(,sep="7 R 5%",end="45 R T 5%")
orint ("Hello World")2kprint ("Hello World")

orint (1,1+2,'1+2")

orint(1,1+2,'1+2"sep="/") 1/3/1+2
orint(1,1+2,'1+2",sep=""") 1'3'1+2

Ex. 584IENH1"3"1+2

orint(1,1+2,'1+2" sep=""") m@ERERGEE\N(RT)
orint(1,1+2,'1+2",sep=""",end="" )RR G r i
orint(1,1+2,'1+2',sep=""",end="p")
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a=15

b=35

print (
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name=input('# A /RRYTRIE : )
ow=input(‘E A REVZR S ;')
orint(name, EVRIR : )
orint(TRIZRSZ ', pw)
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a=input(‘EEAZE —EE : )
b=input(‘zB8I A= _EZ : ")
print ( )
ENSIES R A

a=int(input('zE 8 A= —EZL : "))

b=int(input(‘FEEIAS _EB2 : ")
print (‘a+b=",a+b,sep=")
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Number Format Description

3.1415926 {:.2f} . FEE BRI NBIEE2M

3.1415926 {:+.2f} . FER BRI REE2M BT ER
-1 {:+.2f} . FEE O BTIEEEM  BTRIEAETE
2.71828 {:.0f} 3 B E/NREAEOf » ERA

5 {:0>2d} 05 E ) A EREHEE  BMIIEE2
5 {:x<4d}  5xxx Fxiz » #oEREBEHE  BIRE4
1000000 {:} 1,000,000

0.25 {:.2%} 25.00%

1000000000 {:.2e} 1.00e+09

13 {:10d} 13 SEIE  BEEE10

13 {:<10d} 13 HEE  HIEE

13 {:*10d} 13 1 Bha
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= int(input("Enter first number: "))
= int(input("Enter second number: "))
orint(x+y)
orint(x-y)
orint(x*y)
orint(x/y)
orint(x%oy) %
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1. = FER (BEMEEREEE)
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SHEn A al)fE: 15
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if-elif-else #ET =t

ifR A=

BRI - MITHREZED]
elif 4=

& 15

RERILES - FITRIEER

else

& 1

REARILES - ATV E LR
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